
M6 x 40 mm allen screw

M8 x 30 mm buttonhead allen screw

M8 Nyloc nut

M8 washer SS 304 1 mm thk

M8 x 85 mm allen screw
2

10

10

10

2

Part QTY
1
2
3
4
5
6

Sr.No.

M6 x 40 mm allen screw

Mild steel spacers

M8 x 30 mm buttonhead allen screw

M8 washer SS 304 1 mm thk

M8 Nyloc nut

M8x85 allen screw
Polymer spacer 10

7

Polymer spacers

BOTTOM MOUNT

TRAPEZIUM
CROSS  MOUNT
BOTTOM MOUNT

2
1
2

8
9

10

CROSS MOUNT

TRAPEZIUM

Mild steel spacers

2

VIATERRA SADDLE RACK ASSEMBLY
KTM ADV 250/390


	Sheets and Views
	Model


